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R ma | BT R | B2 | e | e | B2 | BT e | B2 | T | & |
1 100kN/m##B %% 1.00{0.00 ~ 225 134.93|3m%xEZ 5 -~ - - —| 100kN/mM%Z#BZ % 1.00] 12.09 ~ 38.90 134.93| 3m%#BZ % -~ - - -
s 1.00]2.25 ~ 10.03 100.00f Z=h 4+ | 0.00 ~ 10.03] 2.83 15.14 s 1.00] 5.00 ~ 12.09 100.00| =hList | 500 ~ 38.90| 2.83 15.14
9 100kN/mM##8 %% 1.00{0.00 ~ 223 134.70| 3m%x % % -~ - - —| 100kN/mM%Z#BZ % 1.00] 1209 ~ 37.91 134.70| 3m%#BZ % -~ - - -
s 1.00]2.23 ~ 10.02 100.00f Z=h 4t | 0.00 ~ 10.02] 2.83 15.14 s 1.00] 5.00 ~ 12.09 100.00| =hList | 500 ~ 37.91| 2.83 15.14
3 100kN/mM##8 %% 1.00{0.00 ~ 203 131.39|3m%x##%%[0.00 ~ 0.58 3.23 17.30| 100kN/m#%#BZ.% 1.00] 12.66 ~ 42.90 131.39|3m%x# x5 40.00 ~ 42.90( 3.23 17.30
s 1.00]2.03 ~ 9.81 100.00f Z=h st | 0.58 ~ 9.81] 3.00 16.05 s 1.00] 5.00 ~ 12.66 100.00| =hList | 500 ~ 40.00| 3.00 16.05
4 100kN/mM##8 %% 1.00{0.00 ~ 212 132.85|3m%x#%%[0.00 ~ 150 3.58 19.13| 100kN/m#%#B 2% 1.00] 12.60 ~ 63.67 132.85|3m%#E%2 5| 40.00 ~ 63.67| 3.58 19.13
s 1.00]2.12 ~ 9.90 100.00f Zh st |1.50 ~ 9.90| 3.00 16.05 s 1.00] 5.00 ~ 12.60 100.00| =hList | 500 ~ 40.00| 3.00 16.05
5 100kN/m##8 %% 1.00{0.00 ~ 244 138.18|3m%x#%%| 0.00 ~ 0.75 3.31 17.73| 100kN/m#%#B 2% 1.00] 11.76 ~ 40.27 138.18| 3m#%#E% 5| 40.00 ~ 40.27| 3.31 17.73
s 1.00]2.44 ~ 10.23 100.00f Z=h st |0.75 ~ 10.23] 3.00 16.05 s 1.00] 5.00 ~ 11.76 100.00| =hList | 500 ~ 40.00| 3.00 16.05
6 100kN/m##B %% 1.00{0.00 ~ 237 137.02| 3m%x#EZ % -~ - - —| 100kN/mM%Z#BZ % 1.00] 11.78 ~ 36.42 137.02| 3m%#BZ % -~ - - -
s 1.00]2.37 ~ 10.16 100.00f Z=h L4t | 0.00 ~ 10.16] 2.86 15.29 s 1.00] 500 ~ 11.78 100.00| =hList | 500 ~ 36.42| 2.86 15.29
7 100kN/mM##B %% 1.00{0.00 ~ 233 136.38|3m%x#%5(0.00 ~ 0.71| 3.29 17.62| 100kN/m#%#B 2% 1.00] 11.96 ~ 40.26 136.38| 3m%x# x5 40.00 ~ 40.26 3.29 17.62
Lo 1.00{2.33 ~ 10.12 100.00f Z=h st |0.71 ~ 10.12] 3.00 16.05 Lo 1.00] 500 ~ 11.96 100.00| =hList | 500 ~ 40.00| 3.00 16.05
8 100kN/ Mm% X % 1.00{0.00 ~ 253 139.65|3m#*i##EZ%5|0.00 ~ 0.78] 3.33 17.82| 100kN/m%#B %% 1.00| 11.61 ~ 40.71 139.65|3m%#8% 5| 40.00 ~ 40.71| 3.33 17.82
Lt 1.00] 253 ~ 10.31 100.00f =h A4t 1 0.78 ~ 10.31] 3.00 16.05 zHnLs 1.00] 5.00 ~ 11.61 100.00| =xlist | 500 ~ 40.00| 3.00 16.05
9 100kN/ Mm% X % 1.00{0.00 ~ 247 138.74| 3m%i#8EZ%|0.00 ~ 0.75| 3.31 17.73] 100kN/m%#B %% 1.00] 11.77 ~ 44.16 138.74| 3m%#8Z 5| 40.00 ~ 44.16| 3.31 17.73
Zh st 1.00] 247 ~ 10.26 100.00f =h A4t | 0.75 ~ 10.26] 3.00 16.05 s 1.00] 500 ~ 11.77 100.00| =xlist | 500 ~ 40.00| 3.00 16.05
10 100kN/ Mm% X % 1.00{0.00 ~ 3.38 154.25(3m#*#EZ%5|0.00 ~ 1.16] 3.54 18.94| 100kN/mM%E#B 25 1.00] 10.65 ~ 44.00 154.25|3m%#8% % 30.00 ~ 44.00| 3.54 18.94
Zh Lt 1.00{3.38 ~ 11.16 100.00f Zh A4t |1.16 ~ 11.16] 3.00 16.05 zHnLs 1.00] 5.00 ~ 10.65 100.00| =xllst | 500 ~ 30.00| 3.00 16.05
11 100kN/ Mm% X % 1.00{0.00 ~ 3.74 160.65|3m#*i#EZ5|0.00 ~ 1.48] 3.75 20.08| 100kN/m#%i#B% % 1.00] 10.59 ~ 4043 160.65| 3m%#8% 5| 25.00 ~ 40.43| 3.75 20.08
Lt 1.00{3.74 ~ 1152 100.00f =1 A4t |1.48 ~ 11.52] 3.00 16.05 zHnLs 1.00] 5.00 ~ 10.59 100.00| =xllst | 500 ~ 25.00| 3.00 16.05
12 100kN/ Mm% X % 1.00{0.00 ~ 3.78 161.50(3m%##EZ%|0.00 ~ 1.55| 3.80 20.34| 100kN/m%i#B% % 1.00] 10.66 ~ 40.67 161.50| 3m%#8% %[ 25.00 ~ 40.67| 3.80 20.34
Lt 1.00{3.78 ~ 11.57 100.00f Zh A4t | 1.55 ~ 11.57] 3.00 16.05 zHnLs 1.00] 5.00 ~ 10.66 100.00| =xllst | 500 ~ 25.00| 3.00 16.05
100kN/mMZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ zhs ~ ZhLst ~
100kN/M%#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/mMZ#8Z % ~ 3mEHEADS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ zhst ~ ZhLst ~
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